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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the nature and significance of Accounting. 

Also, state the parties that are interested in accounting 

information. 

ys[kkadu dh izd`fr ,oa egRo dh O;k[;k dhft,A ys[kkadu 

esa vfHk#fp j[kus okys i{kksa dks Hkh crkb,A 

2. “An optimal combination of decisions relating to to 

investment, financing and dividends will maximize the 

value of the firm to its shareholders.” Examine this 

statement and also explain the nature and importance 

of the finance function in the modern business. 

ßfuos’k] foŸkh;u rFkk ykHkka’k ls lacaf/kr fu.kZ;ksa dk b”Vre 

la;kstu] ,d QeZ ds ewY; dks vius va’k/kkjdksa ds fy, 

vf/kdre dj ldrk gSAÞ bl dFku dk ijh{k.k dhft, rFkk 

vk/kqfud O;kikj esa foŸk dk;ks± ds egRo dh O;k[;k dhft,A 

3. What are the different sources of long-term financing ? 

Between equity shares and debentures which is 

preferable for raising additional long-term capital for a 

manufacturing company and why ? 

nh?kZdkyhu foŸkiks”k.k@foŸkh;u ds fofHkUu lzksr D;k gSa \ 

,d fuekZ.k fofuekZ.k dEiuh ds fy, vfrfjä nh?kZdkfyd 

iw¡th tqVkus ds fy, lerk va’kksa rFkk _.k&i=ksa esa dkSu&lk 

lk/ku mi;qä gS vkSj D;ksa \ 



 [ 3 ] CP–1001 

A-22 P. T. O. 

4. The Trial Balance of X as on 31st March, 2016 was as 

follows : 

Particulars 

Dr. 

Amount 

(`) 

Cr. 

Amount 

(`) 

Purchases 1,62,505  

Sales  2,52,400 

Reserve for doubtful  

      debts 

 5,200 

Sundry Debtors 50,200  

Sundry Creditors  30,526 

Bills Payable  3,950 

Opening Stock 26,725  

Wages 23,137  

Salaries 5,575  

Furniture 7,250  

Postage 4,226  

Power & Fuel 1,350  

Trade Expenses 5,831  

Bad Debts 525  

Loan to Raman @ 10% 

   (Dec. 1, 2015) 

3,000  

Cash in hand and at Bank 10,000  

Trade Expenses accrued, 

    not paid 

 

700 

Drawings 4,452  

Capital  10,000 

Outstanding wages  2,000 

 3,04,776 3,04,776 
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Prepare Trading and Profit & Loss Account for the 

year ending 31 March, 2016 and the Balance Sheet as 

on that date after taking into considerations the 

following informations : 

(i) Provide for depreciation on furniture @ 10%. 

(ii) Sundry debtors include an item of ` 500 due from 

a customer who has become insolvent. 

(iii) Reserve of bad debts is to be maintained @ 5% 

on sundry debtors. 

(iv) Goods of the value of ` 1,500 have been 

destroyed by fire and insurance company 

admitted a claim for ` 1,000. 

(v) Stock in hand on 31st March, 2016 is ` 12,550. 

31 ekpZ] 2016 dks ,Dl fyfeVsM dk ryiV fuEukuqlkj gS % 

fooj.k 
MsfcV jkf’k 

¼`½ 

ØsfMV jkf’k 

¼`½ 

Ø; 1,62,505  

foØ;  2,52,400 

lafnX/k _.kksa ds fy, lap;  5,200 

fofo/k nsunkj 50,200  

fofo/k ysunkj  30,526 

ns; fcy  3,950 

izkjfEHkd LdU/k 26,725  

etnwjh 23,137  
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osru 5,575  

QuhZpj 7,250  

Mkd ‘kqYd 4,226  

fctyh rFkk b±/ku 1,350  

O;kikj O;; 5,831  

v’kks/; _.k 525  

10% dh nj ls jeu dks _.k 

(1 fnl., 2015)  3,000  

gLrLFk jksdM+ rFkk cSad esa 

jksdM+ 10,000  

mikftZr O;kikj O;; ftudk 

Hkqxrku ugha fd;k x;k  700 

vkgj.k 4,452  

iw¡th  10,000 

vnŸk etnwjh  2,000 

 3,04,776 3,04,776 

fuEufyf[kr lwpukvksa dk laKku ysrs gq, 31 ekpZ] 2016 dks 

lekIr gq, o”kZ ds fy, O;kikj ,oa ykHk&gkfu [kkrk cukb, 

rFkk mä frfFk dks rqyu&i= ¼CkSysal ‘khV½ Hkh crkb, % 

(i) 10% dh nj ls QuhZpj dks kflr fd;k tk;sxkA 

(ii) fofo/k nsunkjksa esa ,d xzkgd lfEefyr gS tks fnokfy;k 

gks x;k gS rFkk mlls ` 500 dk Hkqxrku ns; FkkA 
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(iii) v’kks/; _.k ds fy, lap; fofo/k nsunkj ij 5% dh 

nj ls cuk, j[kuk gSA 

(iv) ` 1]500 ds ewY; dk eky vkx esa u”V gks x;k rFkk 

chek dEiuh us ` 1]000 dk nkok Lohdkj fd;kA 

(v) 31 ekpZ] 2016 dks Lda/k ` 12]550 FkkA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 

Answer of these questions must be restricted to two 

hundred fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj nks lkS ipkl ¼250½ ‘kCnksa ls 

vf/kd ugha gksuk pkfg,A 

1. Rule Regarding Posting of Transactions into the 

Ledger. 

[kkrkcgh esa ysu&nsuksa dh [krkSuh ls lEcfU/kr fu;eA 

2. Operating cycle concept of Working Capital. 

dk;Z’khy iw¡th dh ^ifjpkyu&pØ* vo/kkj.kkA 

3. Main elemnts of Budgetary control. 

ctVjh fu;a=.k i)fr ds izeq[k rRoA 

4. Relationship between Risk and Return. 

tksf[ke vkSj izfrQy ds e/; laca/kA 
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5. Baumol‟s Model of Cash Management. 

jksdM+ izca/k dk ^CkkSeksYl ekWMy*A 

6. Fixed and Flexible Budgeting. 

fLFkj rFkk vuqus;@ykspnkj ctVuA 

7. From the following infromations, calculate the 

payback period of the two projects and suggest which 

of the two projects should be accepted ? 

Years 
Project A 

(`) 

Project B 

(`) 

0 

1 

2 

3 

4 

5 

33,000 

7,000 

12,000 

12,000 

5,000 

4,000 

49,000 

22,000 

12,000 

7,000 

5,000 

4,000 

fuEufyf[kr lwpukvksa ds vk/kkj ij nks ifj;kstukvksa ds 

iquHkZqxrku vof/k dh x.kuk dhft, rFkk lq>ko nhft, fd 

bu nks ifj;kstukvksa esa ls dkSu&lh Lohd`r gksuh pkfg, \ 

o”kZ 
ifj;kstuk , 

(`) 

ifj;kstuk ch 

(`) 

0 

1 

2 

3 

4 

5 

33,000 

7,000 

12,000 

12,000 

5,000 

4,000 

49,000 

22,000 

12,000 

7,000 

5,000 

4,000 
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8. Indian Plastics make plastic buckets. An analysis of 

their accounts reveals : 

Variable Cost per bucket ` 20 

Fixed cost ` 50,000 for the year 

Capacity 2,000 buckets per year 

Selling price per bucket ` 70 

You are required to find ; 

(i) Break-even point 

(ii) The number of buckets to be sold to get a profit 

of ` 30,000. 

Hkkjrh; IykfLVDl] IykfLVd dh ckYVh cukrs gSaA muds 

[kkrksa ds fo’ys”k.k ls fuEu Kkr gqvk gS % 

izfr ckYVh ifjorZuh; ykxr ` 20 

o”kZ ds fy, LFkk;h ykxr ` 50]000 

izfr o”kZ {kerk ` 2]000 ckYVh 

izfr ckYVh foØ; ewY; ` 70 

vidks fuEu dks Kkr djuk gS % 

(i) le&foPNsn fcUnq 

(ii) ` 30]000 dk ykHk vftZr djus ds fy, ckfYV;ksa dh 

foØ; dh la[;kA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False against the following. 

fuEufyf[kr ds lkeus lR; ;k vlR; fyf[k,A 

1. The debt ratio is a measure of working capital. 

_.k vuqikr dk;Z’khy iw¡th dk ,d ekun.M gSA 

2. The reinvestment rate in NPV and IRR is always the 

same. 

‘kq) orZeku ewY; (NPV) rFkk vkUrfjd izR;k; nj  (IRR) 

esa iqufuZos’k nj lnSo ,d tSlh gksrh gSA 

3. Relevant costs are also known as differential costs. 

izklafxd ykxr dks varj ykxr ds :i esa Hkh tkuk tkrk gSA 

4. A legal fee to acquire property is capital expenditure. 

,d laifŸk ds vf/kxzg.k ds fy, Hkqxrku fd, tkus okyk 

oS/kkfud ‘kqYd iw¡thxr O;; gSA 

Fill in the blanks. 

fjä LFkku dh iwfrZ dhft,A 

5. .............. formula is used to calculate degree of 

operating leverage (DOL). 
-----------------

 lw= foŸkh; mŸkksyd ds ifjek.k dh x.kuk ds fy, 

iz;skx fd;k tkrk gSA 

6. Liabilities + ............ = Assets. 

ns;rk,¡ $ 
--------------------

  lEifŸk;k¡A 
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Indicate the correct answer-option. 

mŸkj ds fy, lgh fodYi dk pquko dhft,A 

7. The reutrn on equity indicates : 

(a) Measures of profitability 

(b) The effectively in use of assets in achieving sales 

(c) Measure of leverage 

(d) All the above 

bfDoVh ¼lerk½ ij feyus okyk izfrQy ls vk’k; fuEu esa 

ls D;k gS \ 

¼v½ ykHkiznkrk ds lk/ku 

¼c½ foØ; dks izkIr djus ds fy, esa lEifŸk ds mi;ksx esa 

n{krk 

¼l½ mŸkksyd dk eki 

¼n½ mi;qZDr lHkh 

8. The availability of cash in the near future after taking 

account of financial commitments is known as : 

(a) Liquidity 

(b) Solvency 

(c) Cash flow 

(d) Cash rich 

foŸkh; izfrc)rkvksa dks /;ku esa j[kdj fudV Hkfo”; esa 

jksdM+ dh miyC/krk dks 
--------------------

 ds :i esa tkuk tkrk gSA 

¼v½ rjyrk 

¼c½ ‘kks/ku {kerk 

¼l½ jksdM+ izokg 

¼n½ jksdM+ lEiUUkrk 
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9. The Firm‟s capital structure refers to : 

(a) the way a firm invests its assets 

(b) the amount of capital in the firm 

(c) the amount of dividends a firm pays 

(d) the mix of debt and equity used to finance the 

firm‟s assets 

QeZ dh iw¡th lajpuk fuEu esa ls fdls n’kkZrh gS \ 

¼v½ ,d QeZ }kjk viuh laifŸk fuos’k djus dk rjhdk 

¼c½ QeZ esa iw¡th dh jkf’k 

¼l½ ykHkka’k dh jkf’k tks ,d QeZ Hkqxrku djrh gS 

¼n½ ,d QeZ dh ifjlaifŸk;ksa ds foŸkiks”k.k gsrq _.k rFkk 

lerk dk feJ.k 

10. Which of the following options is a market for short-

term financial assets ? 

(a) Capital Market 

(b) Money Market 

(c) Main Market 

(d) None of these 

fuEufyf[kr esa ls dkSu&lk fodYi vYidkfyd foŸkh; 

ifjlaifŸk;ksa ds fy, ,d cktkj gS \ 

¼v½ iw¡th cktkj 

¼c½ eqnzk cktkj 

¼l½ eq[; cktkj 

¼n½ buesa ls dksbZ ugha 

CP–1001  70 


